CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F MILWAUKEE STREET MILL AND INLAY PROJECT NO. ST04-1378 SEPTEMBER 28, 2004

ORIGINAL CONTRACT AMOUNT: \$160,129.88 CONTRACTOR: SIMON CONTRACTORS OF SD, INC.

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	MOBILIZATION	LS	1.00	\$1,600.00	\$1,600.00	1.00	\$1,600.00	\$0.00
	MILL & REMOVE ASPHALT CONCRETE PAVEMENT	SY	5,124.00	\$1.50	\$7,686.00	5,124.00	\$7,686.00	\$0.00
3	REMOVE CONCRETE CURB & GUTTER	LF	201.00	\$4.90	\$984.90	201.00	\$984.90	\$0.00
4	REMOVE CONCRETE FILLET	SY	34.00	\$9.00	\$306.00	34.00	\$306.00	\$0.00
5	REMOVE CONCRETE SIDEWALK	SF	1,037.00	\$0.60	\$622.20	1,140.00	\$684.00	\$61.80
6	REMOVE MANHOLE	EA	1.00	\$850.00	\$850.00	1.00	\$850.00	\$0.00
7	CONCRETE CURB & GUTTER	LF	174.00	\$18.75	\$3,262.50	174.00	\$3,262.50	\$0.00
8	CONCRETE APPROACH PAVEMENT, REINFORCED, 6"	SY	12.20	\$66.40	\$810.08	12.50	\$830.00	\$19.92
9	CONCRETE FILLET & PAN, REINFORCED, 6"	SY	34.00	\$63.00	\$2,142.00	34.00	\$2,142.00	\$0.00
10	CONCRETE SIDEWALK, 4"	SF	1,037.00	\$4.25	\$4,407.25	1,282.50	\$5,450.63	\$1,043.38
11	STANDARD MANHOLE, 48" DIA.	EA	1.00	\$3,490.00	\$3,490.00	1.00	\$3,490.00	\$0.00
12	MANHOLE OVERDEPTH	VFT	5.00	\$125.00	\$625.00	5.00	\$625.00	\$0.00
13	REPLACE MANHOLE ADJUSTING RINGS	EA	1.00	\$125.00	\$125.00	6.00	\$750.00	\$625.00
14	EXCAVATION, UNCLASSIFIED	CY	900.00	\$9.90	\$8,910.00	900.00	\$8,910.00	\$0.00
15	EXCAVATION, UNCLASSIFIED-DIGOUTS WITH SUGAR ROCK	CY	120.00	\$38.00	\$4,560.00	85.66	\$3,255.08	(\$1,304.92)
16	AASHTO T-180 SOIL TEST	EA	3.00	\$143.00	\$429.00	1.00	\$143.00	(\$286.00)
17	AGGREGATE BASE COURSE	TON	1,950.00	\$11.50	\$22,425.00	1,552.58	\$17,854.67	(\$4,570.33)
18	ASPHALT CONCRETE, CLASS G, TYPE 1	TON	1,640.00	\$40.00	\$65,600.00	1,564.43	\$62,577.20	(\$3,022.80)

	Г		ı	1				1
19	BITUMINOUS TACK COAT	GAL	300.00	\$2.00	\$600.00	300.00	\$600.00	\$0.00
20	COLD PLASTIC MARKING, 4"	LF	2,230.00	\$2.75	\$6,132.50	2,140.00	\$5,885.00	(\$247.50)
21	COLD PLASTIC MARKING, 12"	LF	72.00	\$8.80	\$633.60	72.00	\$633.60	\$0.00
22	COLD PLASTIC MARKING, 24"	LF	78.00	\$15.40	\$1,201.20	72.00	\$1,108.80	(\$92.40)
23	COLD PLASTIC MARKING, ARROW	EA	4.00	\$220.00	\$880.00	4.00	\$880.00	\$0.00
24	SODDING	SY	50.00	\$31.00	\$1,550.00	72.20	\$2,238.20	\$688.20
25	INCIDENTAL WORK	LS	1.00	\$2,000.00	\$2,000.00	1.00	\$2,000.00	\$0.00
26	TRAFFIC CONTROL	LS	1.00	\$6,000.00	\$6,000.00	1.00	\$6,000.00	\$0.00
	CHANGE ORDER #1							
27	4" PVC SEWER SERVICE	LF		\$32.50	\$0.00	13.00	\$422.50	\$422.50
		т	OTAL BASE BID		\$147,832.23		\$141,169.08	(\$6,663.15)
	ALTERNATE #1							
A1	REMOVE CONCRETE FILLET	SY	4.20	\$9.00	\$37.80	4.20	\$37.80	\$0.00
A2	REMOVE CONCRETE SIDEWALK	SF	265.00	\$0.60	\$159.00	265.00	\$159.00	\$0.00
A3	REMOVE CONCRETE PAVEMENT	SY	80.00	\$9.00	\$720.00	80.00	\$720.00	\$0.00
A4	CONCRETE FILLET & PAN, REINFORCED, 6"	SY	4.20	\$63.00	\$264.60	4.20	\$264.60	\$0.00
A5	CONCRETE SIDEWALK, 4"	SF	265.00	\$4.25	\$1,126.25	265.00	\$1,126.25	\$0.00
A6	PCC PAVEMENT, 6" NONREINFORCED	SY	80.00	\$68.70	\$5,496.00	80.00	\$5,496.00	\$0.00
A7	SODDING	SY	30.00	\$31.00	\$930.00	30.00	\$930.00	\$0.00
		TOTAL	. ALTERNATE #1		\$8,733.65		\$8,733.65	\$0.00

	ALTERNATE #2						
B1	CONCRETE DETECTABLE WARNING PANELS	EA	18.00	\$198.00			\$0.00
	TOTAL BASE BID PLUS ALTERNATES #1 & #2					\$153,466.73	(\$6,663.15)

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$160,129.88
CCO #1	(\$6,663.15)	NET INCREASE/(DECREASE):	(\$6,663.15)
		ADJUSTED CONTRACT PRICE:	\$153,466.73
		CHANGE TO DATE:	(\$6,663.15)

Simon Contractor of SD, Inc 342-3734			Date
Keith Johnson, Project Manager			Date
Jim Shaw, Mayor			Date
Jim Preston, Finance Officer			Date
CONTRACT TIME CHANGE +/-: 0	NEW CONTRACT TIME:	Days	

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F MILWAUKEE STREET MILL AND INLAY PROJECT NO. ST04-1378 SEPTEMBER 28, 2004

ORIGINAL CONTRACT AMOUNT: \$160,129.88 CONTRACTOR: SIMON CONTRACTORS OF SD, INC.

LINE	DESCRIPTION	REASON FOR CHANGE
II E IVI	DESCRIPTION	REASON FOR CHANGE
5	REMOVE CONCRETE SIDEWALK	NORMAL CONSTRUCTION DEVIATION
8	CONCRETE APPROACH PAVEMENT, REINFORCED, 6"	NORMAL CONSTRUCTION DEVIATION
10	CONCRETE SIDEWALK, 4"	NORMAL CONSTRUCTION DEVIATION
13	REPLACE MANHOLE ADJUSTING RINGS	NORMAL CONSTRUCTION DEVIATION
15	EXCAVATION, UNCLASSIFIED-DIGOUTS WITH SUGAR ROCK	NORMAL CONSTRUCTION DEVIATION
16	AASHTO T-180 SOIL TEST	NORMAL CONSTRUCTION DEVIATION
17	AGGREGATE BASE COURSE	NORMAL CONSTRUCTION DEVIATION
18	ASPHALT CONCRETE, CLASS G, TYPE 1	NORMAL CONSTRUCTION DEVIATION
20	COLD PLASTIC MARKING, 4"	NORMAL CONSTRUCTION DEVIATION
22	COLD PLASTIC MARKING, 24"	NORMAL CONSTRUCTION DEVIATION
24	SODDING	NORMAL CONSTRUCTION DEVIATION
27	4" PVC SEWER SERVICE	RECONNECT A SEWER SERVICE ADJUACENT TO THE MANHOLE WE REPLACED

PREPARED BY: Keith Johnson DATE: September 28, 2004